A 2 o & A

Al A

SA AL
M olNE TR HE
chelr E2ae] e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 29,978,833 33,635,984 A3,657,151
= 2,257,000
[ 2,076,000
Jl 814,800
< 4,321,417
= 18,509,556
CH 2,000,000
OHME =2 A &S 10,831,211 11,700,452 A\869,241
Il 814,800
== 1,107,377
o 8,909,034
C2ael e 2,332,411 2,372,472 40,061
[ 29,977
T 2,302,434
CRuSoHd 249 1,078,620 1,084,360 Ab,740
101 @124H| 158,000 168,000 0
M JIZtHZ2 S E 168,000 158,000 0
Ok=8 H=&dY 168,000
201 er2 3| 112,620 112,360 260
01 AtR2telHl 19,020 25,760 N6,740
OkzdH =37¥ 9,000
Oz 2cd SEHI 4,620
Okzac|d Ags & s 2L 2,400
Oz2d2 &g=s & Ags 7Y 600
O3 AIRY 28 =5 78 2,400
02 S3=gHl 93,600 86,600 7,000
O=Z 2@ MRA FX2eld 12,000
OXte, 2471, W=I1 FA2ell 46,600
O=2=2+ FA2ell 20,000
OXIEANAU =Xl2e] 15,000
206 MH=H| 2,000 8,000 26,000
01 M=4l 2,000 8,000 26,000
OE2s=5578 A2 7Y 2,000
401 Al HIZL R 0HbI 806,000 806,000
01 Al&HI 806,000 806,000
OE2WE HEAIZZE &Hl & 2+
10,000,000 * 1094 2= 100,000
Oz XM g ARZetMAIE HH 500,000
—JIEdIES AEAIE
50,000,000 #4JH 2 200,000
—CE2XEEM 100,000, 0002 *2IH 2 200,000
—USEYANE 2 E28
10,000,000 1094 2~ 100,000
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SA: AT
M NS S2HA BE
=Rl 222 e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ok=8 H=&dY 106,000
Otz XN&== MAHY 50,000
OY=0E &XHI 50,000
CR2NSHHE 2E(EX) 7,471 7,352 119
< 3,977
Ea 3,494
101 @124H| 7,471 7,352 119
S 3,977
= 3,494
M ORNZZE2NSE S 7,471 7,352 19
OuSE A 212 7,47
= 3,977
Ea 3,4%
Ne tis 22 239,500 258,000 18,500
201 fer=3| 41,500 15,000 26,500
01 AtR2t2|H] 6,500 10,000 23,500
ONExY S 6,500
2 S5=2g4l 35,000 5,000 30,000
OH& & |X2el] 5,000
OHN&Dl & &) RXl2tel] 30,000
206 M=l 90,000 135,000 /45,000
01 M=4l 90,000 135,000 /45,000
ONeg gatz2s & 43 7 85,000
O=H=0Ll 7 250 *20,000% 5,000
302 OI=H o2& = 86,000 86,000
02 2RI S HES24=3 86,000 86,000
OM&EXY 2I2H] S 86,000
307 elzto| & 22,000 22,000
06 2= 22,000 22,000
ON&XEX 20t 22,000
Ay et 5,160 5,000 160
202 04| 2,660 2,500 160
01 2LHA LI 2,660 2,500 160
Oddely ge=a 2,660
203 gF=4| 2,500 2,500
03 A=A R =T 2,500 2,500
OAEHE A 2,500
S8 JI2S NZA 861,660 908,760 247,100
201 Ler23| 58,660 60,760 22,100
01 At2teltl 7,660 9,760 2,100
otdEs Y 1,000




SA AL
M NS S2HA BE
chelr E2ae] e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJ2S Jl=e m= o mels 2
,0003H 900
OJIZ2 8 JI=% St 5,760
02 S3=gHl 51,000 51,000 0
O3d&xg dlIRs S 16,000
Ogd2xd sXl2el 5,000
OJtzs "Al2el 20,000
O&siteg FAl2cl 10,000
206 M=l 150,000 200,000 50,000
01 M=8l 150,000 200,000 /50,000
OJtzs RANE+ T # 150,000
401 AIEHIZ R 0HYI 653,000 648,000 5,000
01 Al&H| 650,000 645,000 5,000
OJt=28 A4 & JUlAe 500,000
OY, 9+, ZEE NFBAY N2E &
XIS Ak 135,000
OgxZ Hol= el 15,0002 *1,000H 15,000
03 A& S CHYI 3,000 3,000 0
OJIZS ALSA A2 RE=S 3,000
S8 28 NZAE(ExX) 52,000 0 52,000
= 26,000
= 26,000
206 M=l 52,000 0 52,000
= 26,000
Ea 26,000
01 M=4l 52,000 0 52,000
Oizs 2= I 2 (EASENS)
520,000 »1000H 52,000
s 26,000
s 26,000
=3 7ML 2 58,000 59,000 21,000
201 el 8,000 9,000 21,000
01 At22t2lt] 8,000 9,000 21,000
O=g & S)I=+2 S 8,000
401 AlEHIZ S 0HbI 50,000 50,000
01 AlZH| 50,000 50,000
CHIHEEZ A=Kl 0ISSX 0HY 50,000
=212 NEA 30,000 50,000 220,000
401 AlZHIZ SO 30,000 50,000 220,000
01 AlZ28| 30,000 50,000 220,000
OXIEANAIN =SAS 30,000
C2EE Hd 8,498,800 9,327,980 829,180
Jl 814,800
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SA: AT
M NS S2HA BE
o2l E28E e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgdacANE=s ardES 406,000
= 89,400
= 316,600
O =2=192d T2FSAE3H] 160,000
=S 48,000
s 112,000
O22 ZE13sd EZREALEH| 300,000
< 90,000
s 210,000
EEE HEME(HEAIY) 1,300,000 2,000,000 A700,000
= 650,000
Ea 650,000
401 AIZHIX S0HH 1,300,000 2,000,000 /700,000
=S 650,000
s 650,000
01 AlZ8| 1,300,000 1,996,400 696,400
O2Y~F22 RIEE2 FRNEALY 980,000
< 490,000
[Ea 490,000
O&ZXE A= FRIMEAL 320,000
= 160,000
= 160,000
wxtz W (EX)(HEAY) 400,000 420,000 /20,000
=S 200,000
s 200,000
401 AIEHIZ SR THYI 400,000 420,000 /20,000
== 200,000
[Ea 200,000
01 Al&H| 400,000 420,000 /20,000
OZEdhs Le=s3EHA WAZ HAAY 400,000
& 200,000
= 200,000
2 XSetAr 2,827,800 2,991,980 164,180
) 814,800
[Ea 2,013,000
401 Al HIZ S OHbI 700,000 699,980 20
01 A28l 694,960 694,780 180
O'23d e xSstn s82 XSsAE (2
gne) 297,840
O244 2Exs8W 82 XSsAE (2
gl=e) 198,560
O'244 2=x58tn S5tz NS3AE (2
gl=e) 198,560
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SA AL
M NS S2HA BE
chel: E2EA e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 5,040 5,200 A160
O'23d gaxz=sstu StAF(O
glee) 2,160
O24d 2ExSstu SAF (O
Rl 1,440
O 24xS3t StAtd(D
glee) 1,440
403 XXM S A= 0l 2,127,800 2,292,000 A164,200
Jl 814,800
[Ea 1,313,000
02 SJ|2S0ItHetX 2,127,800 2,292,000 164,200
O'23d g =S8 ECIUN 413,000
O'244d AExSst AES3AIE 913,400
Il 413,400
o 500,000
O'ud 2+=x58t XSt 801,400
Il 401,400
= 400,000
AI|IE2 ZAIESH &4 8,115,700 10,798,642 A2,682,942
[ 1,312,000
= 1,278,500
o 3,525,200
CH 2,000,000
SADIBAIE &5 8,115,700 10,798,642 A2,682,942
= 1,312,000
< 1,278,500
[Ea 3,525,200
CH 2,000,000
CAIHE 2 63,200 264,000 200,800
101 21A4H| 6,000 6,000 0
04 JIZtN2Z2 XS E 6,000 6,000 0
OZAHEAE H=xE 2
2,000,000 #32] 6,000
201 Ler23 | 43,000 62,000 19,000
01 AtR2t2ltl 43,000 62,000 19,000
Oz2eHE & s54F 23 40,000
OgazZ A& =Y 3,000
202 048l 4,200 6,000 1,800
01 2L AL 4,200 6,000 21,800
Ogeiecior & 2 KIZ=AF O
] 4,200
308 XXM SOIA 10,000 10,000
3 BJ&2S0tHerH 10,000 10,000
O=z2eHg 28 10,000
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SA: AT
M A)IE2 TASSH 24
S DADIEAIE =E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NH+=QOSXNZAIG (LA FFE SEEUE HEA 241,000 1,381,000 A1,140,000
2)
= 241,000
401 AIEHIZ SR 0HYI 241,000 1,381,000 1,140,000
= 241,000
01 AlZH| 241,000 1,381,000 1,140,000
Oga =24 seuy HE 241,000
[ 241,000
LATAAHEEZ HESA 354,000 904,000 A550,000
401 AlZHIZ S 0HbI 354,000 904,000 550,000
01 AlZH| 350,000 900,000 A550,000
OZHEEZ HESAH 150,000
OZHEEZ RAE* 150,000
OZAHEE=Z DI=2EX Y 50,000
03 A2 CHYI 4,000 4,000 0
OZAHE =2 HESA =& 4,000
PAZ CAAEEEMA(PIS)RXIE= 38,000 38,000 0
201 er23y| 38,000 38,000 0
01 AtR2t2|HI 38,000 0 38,000
Ogaz TAIAEEZN A Bt 22,000
OIS 2g&Hl =Xl2 16,000
a2 AHEAE ZEAMY 62,000 61,000 1,000
201 2egh=3| 2,000 1,000 1,000
02 S5=24g4l 2,000 1,000 1,000
OXNEAN SIFI| HJIL3 2,000
307 elztol & 10,000 10,000
05 2I2tRIE S 10,000 10,000
O NENE SHH 23 10,000
401 Al HIYL S0 50,000 50,000
01 AlZ2H| 50,000 50,000
O8ABAEHE FAE+AE 50,000
SAHY Dlgtxd 348,000 347,642 358
307 212+01& 248,000 247,642 358
05 2ItRIE = 248,000 247,642 358
OZAMEXHHE 2HAES 248,000
401 Al HIZ 2018 100,000 100,000
01 Al&H| 100,000 100,000
OEAMEXHAI 100,000
ST ZAINY 2d3ArY 1,815,000 3,334,000 21,519,000
=S 1,100,000
s 715,000
307 21201 & 440,000 440,000 0
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A AL

M A)IE2 TASSH 24
S DADIEAIE =E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 264,000
s 176,000
02 2IZHB A E £ 40,000 40,000 0
OdIHN7 =AY =2IHIetS 2 AL 40,000
= 24,000
o 16,000
05 212t =S 400,000 400,000 0
OZAIMAEXIZHEH 2I2t2AE S 400,000
s 240,000
s 160,000
401 Al HIZL S 0HYI 1,225,000 2,894,000 A1,669,000
& 746,000
= 479,000
01 Al&H| 1,225,000 2,894,000 21,669,000
OdIHN7 =AY 2d3tAre 1,225,000
= 746,000
[Ea 479,000
402 2I2F X201 & 150,000 0 150,000
s 90,000
s 60,000
01 IR SASE X (XHMITHR) 150,000 0 150,000
OdIHNT =AY H=cl X2 A 150,000
[ 90,000
T 60,000
P4 SSYUFE A 3,000,000 0 3,000,000
o 1,000,000
CH 2,000,000
403 MR HHMSAHE01H 3,000,000 0 3,000,000
= 1,000,000
CH 2,000,000
02 S7I2S0 e H=E 2 E AL 3,000,000 0 3,000,000
O2+ SSEU=8 28 N 3,000,000
= 1,000,000
CH 2,000,000
g4 11 THEEZ HESA 400,000 1,050,000 650,000
401 AlZHIZ S0 400,000 1,060,000 650,000
01 Al&H| 396,300 1,046,300 A\650,000
Ogd a1 ZAHEEZ HESA 396,300
03 AIZ2THYI 3,700 3,700 0
Ogd Sa11d ZAEEZ HESA 3,700
X7 ZAINHSE DA 1,794,500 0 1,794,500
[ 1,071,000
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A AL

M A)IE2 TASSH 24
CH2l: ZADIBIAIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 178,500
s 545,000
401 Al HIZL 01| 1,194,500 0 1,194,500
= 471,000
== 178,500
[Ea 545,000
01 Al&H| 1,194,500 0 1,194,500
OL2=X7 ZAIHASESIAY 1,194,500
= 471,000
=S 178,500
s 545,000
403 AXIEHHSAH=201H 600,000 0 600,000
= 600,000
02 SISO St =2 A 2 E A I 600,000 0 600,000
O2+X7 ZANMESLStAE tHH A I 600,000
[ 600,000
S JIBHAH 2E 10,961,374 11,026,510 A\B5,136
= 2,257,000
= 764,000
< 1,935,600
s 6,004,774
SgsE dglexy 10,961,374 11,026,510 A\B5,136
= 2,257,000
[ 764,000
= 1,935,600
Ea 6,004,774
AFA =clAlE =2 908,280 963,600 /55,320
201 er=2 3| 38,280 43,600 A5,320
01 AtR2t2|HI 35,780 40,600 A4,820
O==clAlE THolole HHlaxtz
660,000& #5332 34,980
OJlgtxd g2Fa 800
2 52434l 2,500 3,000 2500
Ol RA=E= 2,500
401 Al HIZ 201 870,000 920,000 /50,000
01 A28l 865,590 915,590 /50,000
=elAE(M==Xl, ==&, =X, 2],
2 3) g2 & Fil 695,590
Ozl M==Xl =2 & FH| 120,000
OIS A 50,000
03 A2 THYI 4,410 4,410 0
OAFJAl F=clAlEHE+
700,000,000& *0.63% 4,410
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S AL
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sPES FA2 88,000 95,000 A7,000
201 er23 | 18,000 20,000 22,000
01 At2teltl 18,000 20,000 /2,000
O=sg8+ 2N 18,000
401 AIZHIX S0 70,000 75,000 /5,000
01 AlZH| 70,000 75,000 /5,000
O=sg8= ol M=2el & Xoteg
SFEA 70,000
2THY AE= HE=S 1,792,844 1,800,660 7,816
401 AlEHIZL SO 1,792,844 1,800,660 A7,816
01 Al&HI 1,786,389 1,794,312 AT7,923
O3 RAE= 543,545
O2F 0ISA&(2z2, 293 8) |2
]l 180,000
OxE2AZNY 47,844
O3 540,000
Oy Hloima 450,000
OXIXIot=2EAL (EX2ZY)EX
12,500,000 *29H 2= 25,000
03 Al S THYI 6,455 6,348 107
OZZML A2 HES 6,455
SEIHEAE 100,000 150,000 /50,000
402 2I2E X201 & 100,000 150,000 /50,000
01 QI X2 AL E R (KM THE) 100,000 150,000 /50,000
OSEHEAIS 100,000
Sti==2 ZHIAS 700,000 900,000 A.200,000
401 AIZHIZ SO 700,000 800,000 100,000
01 Al&H| 700,000 800,000 100,000
OZti+==2 FHIAL 700,000
st gl E =g 321,250 321,250 0
= 257,000
s 64,250
401 Al HIZ R 0HHI 321,250 321,250 0
= 257,000
[Ea 64,250
01 Al&H| 318,937 318,937 0
Oste il S+ 318,937
= 257,000
= 61,937
03 A2 2 0HYI 2,313 2,313 0
Oste il E+=IHe
321,250,0002%0.72% 2,313
a2 SEIIBAIE FHIAIE 50,000 40,000 10,000
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SA AL
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 50,000
401 AIEHIX 20 50,000 40,000 10,000
=S 50,000
01 Al&H| 50,000 40,000 10,000
O8AE GA0ls s¥S == FHISA 30,000
= 30,000
OdAE =H0l= sES == ZHISA 20,000
S 20,000
g8t =HEHIALY 25,000 30,000 /5,000
401 A2 HIRL R 0HbI 25,000 30,000 /5,000
01 Al&HI 25,000 30,000 A5,000
Ogolgt |Xl2el 25,000
NEF22HL(HEAID) 1,000,000 1,000,000 0
401 AIZHIZ SO 1,000,000 1,000,000
01 Al&HI 993,700 993,700
OXE=SUMLAIS (&) 993,700
03 AIZ 2 THY 6,300 6,300 0
OXES=SLMLAIS (HEH)
1,000,000, 000& *0.63% 6,300
JIAHSHEEZ S EAL (M EALY) 428,000 428,000 0
401 A2 HIRL 201 428,000 428,000
01 Al&H| 424,918 424,918
OIS ZE S EHAY 424,918
03 Al 2 CHHI 3,082 3,082 0
OIS B EZ SHELIAY
428,000,000&*0.72% 3,082
A2l A E(HEALY) 1,700,000 1,100,000 600,000
s 1,360,000
s 340,000
401 Al HIZL R 0HbI 1,700,000 1,100,000 600,000
[ 1,360,000
Ea 340,000
01 Al&HI 1,693,880 1,096,040 597,840
OAlZ ==l Al 2= At 1,693,880
= 1,360,000
= 333,880
03 AIZ 2 THYI 6,120 3,960 2,160
OAZ==elAIEHE ALY =8 6,120
BH==JH & AL 2,200,000 1,884,000 316,000
= 2,000,000
= 160,000
Ea 40,000
401 AIEHIX S0 2,200,000 1,884,000 316,000
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rar=inl
SHAL JISHA =S
SUSE d2I|8txd CH M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,000,000
=S 160,000
s 40,000
01 Al 2,192,800 1,877,217 315,583
OWUEXIF bH==IH &AL 1,992,800
= 1,992,800
OLDIXI7 A2 Bi==IHE AL 200,000
=S 160,000
s 40,000
03 A& S CHYI 7,200 6.783 417
OUEXIT Bi=IH ALY =2 7,200
= 7,200
Mol &M +=Al SBIA 1,528,000 1,804,000 A276,000
[ 764,000
= 305,600
o 458,400
401 AlZHIZ S OHYI 1,528,000 1,804,000 276,000
[ 764,000
= 305,600
o 458,400
01 Al&H| 1,522,490 1,797,505 A275,006
OMaHAASM=Xl FHIAE 1,522,499
= 764,000
& 305,600
= 452,89
03 A2 2 0HYI 5,501 6,495 A994
OMoliIg =Xl SHIAE =&
1,528,000,000& *0. 36% 5,501
S FHAXNG AHE E+3 HLA 120,000 60,000 60,000
< 60,000
[Ea 60,000
401 Al HIZL S 0HYI 120,000 60,000 60,000
& 60,000
= 60,000
01 Al&H| 120,000 60,000 60,000
Ot HSXNE MY S HE A 120,000
= 60,000
o 60,000
A5 E225A 5,100 9,000 A3,900
&o & SHE At SSAFAY 5,100 9,000 23,900
S35 N3AAMS 5,100 9,000 A3,900
201 er23 | 3,000 3,000 0
01 At2teltl 3,000 3,000 0
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